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MATHS -6 (CH-07-FRACTIONS)

MATHS -6 (CH-07-7.1-FRACTIONS)

Question 1:
Write the fraction representlng the shaded portion.

VA = 4445

W HH

WK K~
* %K K

ﬂ_
- €

(viii)

Answer 1:

(i) The given figure represents 2 shaded parts out of 4 equal parts.
Hence, 2

4
(ii) The given figure represents 8 shaded parts out of 9 equal parts.
Hence, g
(iif) The given figure represents 4 shaded parts out of 8 equal parts.
Hence, 4
(iv) The given figure represents 1 shaded part out of 4 equal parts.

I
Hence, —
4
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(v) The given figure represents 3 shaded parts out of 7 equal parts.
Hence, %
(vi) The given figure represents 3 shaded parts out of 12 equal parts.
Hence, %
(vii) The given figure represents 10 shaded parts out of 10 equal parts.
Hence, 10
10
(viii) The given figure represents 4 shaded parts out of 9 equal parts.
Hence, %
(ix) The given figure represents 4 shaded parts out of 8 equal parts.
Hence, %
(x) The given figure represents 1 shaded part out of 2 equal parts.
Hence, 1;
Question 2:

Colour the part according to the given fraction.

(iv) < (v)

o &
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Answer 2:

Question 3:

Identify the error if any.

Thisis % Thisis % Thisis -i—

Answer 3:

The given figures do not represent the fractions as here each shape is not divided in equal parts.
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Question 4:

What fraction of a day is 8 hours?

Answer 4:

There are 24 hours in a day. Therefore, 8 hours of a day representz—i .

Question 5:

What fraction of an hour is 40 minutes?

Answer 5:

There are 60 minutes in an hour. Therefore, 40 minutes of an hour represent
.l
60

Question 6:

Arya, Abhimanyu, and Vivek shared lunch. Arya has brought two sandwiches, one made of
vegetable and one of jam. The other two boys forgot to bring their lunch. Arya agreed to share
his sandwiches so that each person will have an equal share of each sandwich.

(a) How can Arya divide his sandwiches so that each person has an equal share?

(b) What part of a sandwich will each boy receive?

Answer 6:

(a) Arya will divide each sandwich in three equal parts. Then, he will
give one part of each sandwich to each one of them.

(b) Each boy will receive % part of each sandwich.
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Question 7:

Kanchan dyes dresses. She had to dye 30 dresses. She has so far finished 20 dresses. What
fraction of dresses has she finished?

Answer 7:

Dress dyed so far = 20

Total dresses = 30
Fraction = 0.2
0 3
Question 8:

Write the natural numbers from 2 to 12. What fraction of them are prime numbers?

Answer 8:

Natural numbersfrom2to12are 2,3,4,5,6,7,8,9,10,11,and 12.
Prime numbers among these are 2, 3, 5,7, and 11.

Therefore, out of 11 numbers, 5 are prime numbers. It represents a fraction%.

Question 9:

Write the natural numbers from 102 to 113. What fraction of them are prime numbers?

Answer 9:

Natural numbers from 102 to 113 are 102, 103, 104, 105, 106, 107, 108, 109,110, 111, 112,113
Among these numbers, the prime numbers are 103, 107, 109, and 113.

Therefore, out of 12 numbers, 4 are prime numbers. It represents a fracticmli_
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Question 10:

What fractions of these circles have X's in them?

(L LICIE)
PR

Answer 10:

Thereare 4 circles, out of 8, having X's in them. Therefore, it represents a
fraction 2.
8

Question 11:

Kristin received a CD player for her birthday. She bought 3 CDs and received 5 others as gifts
What fraction of her total CDs did she buy and what fraction did she receive as gifts?

Answer 11:

Total CDs Kristin had on her birthday=3+5=8

Out of 8 CDs, she bought 3 CDs and also got 5 CDs as gifts. Therefore, she bought and received
CDs as gifts in a fraction of éand% respectively.

MATHS -6 (CH-07-7.2-FRACTIONS)
Question 1:

Draw number lines and locate the points on them:

Ql
113 4 1237 23 4
i dgt il g 4

2444 8 8 8 5
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Answer 1:
1 1 3 4
A) i et
()2 L
3 A ARdge B
(b)
f 4. 2 2 3 5 & 2
8 & 2 4 8 B E
(c)
0 2 2 H 8 %
5 3 5 5
Question 2:

Express the following as mixed fractions:
20 1 17
(a) T (b) 5 (c) 5

28 19 35
(d) % (e) 5 (f) e

Answer 2:
(a)

3 3 3 3

=6+—=06—
3 3
(b)
11 _10+1 10
= ==
5 5 T
I 1
=2+—=2-
5
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(c)
17 14+3 14 3
—_— - =+ —
7 7 7 7
=2+§=2E
T 7
(d)

28 25+3 25 3
5 & 575

ey e
) ]
(e)

19 18+1 18 1
ﬁ_ f _f} f
=3+173l
[ [

)
35 27+8 27 8
— =—d—
Ij (j (J l)
=3+§=3§
9 "9
Question 3:

Express the following as improper fractions:
3 6 5
(@) 73 () 57 (¢) 2%

3 3 4
(d) '”g (e) 9? (f) 86

Answer 3
(a) ?§={4x7)+3=£
4 4 4
(b) 5E_L7x3]+6=ﬂ
7 7 7
© 2§=£6x2]+_5=E
6 6 6
(d) mjz{ﬁxlu}uzszﬂ
5 5 5
(e) 93 =£?x‘9}+3=@
7 7 7
(f) gi={8x0}+4=3§
9 9 9
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MATHS -6 (CH-07-7.3-FRACTIONS)

Question 1:

Write the fractions. Are all these fractions equivalent?

DEOCE®

b)

oooQo 000 e o o 0000

ceooel @ @0 o eeooe®

0000 o 00 e 0 e O ee000
Answer 1:

(a) In the given circles, 1 out of 2, 2 out of 4, 3 out of 6,
and 4 out of 8 equal parts are shaded respectively. Therefore, these circles represent

POOE

Bl
Z

+-..|u

Also, all these fractions are equivalent.

(b)

In the given rectangles, 4 out of 12, 3 out of 9, 2 out of 6, 1 out of 3, and 6 out of 15 equal parts
(i.e., circles) are shaded respectively. Therefore, these rectangles represent

co0o 000 e o [} @000
eooe||® o® o @eoo®
0000 o 00 e o @ O e8000
% TP S LR O 1 L Lt
I 3 9 i 3 3 k5 s

No, not all of these fractions are equivalent.

Question 2:

Write the fractions and pair up the equivalent fractions from each row.

I Fuz=f u
ﬂEﬁﬂ%

{11} (i) {iv)
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Answer 2:

(a) Here, 1 part is shaded out of 2 equal parts (i.e., rectangle). Hence, this
figure represents a fractlon% .

(b) Here, 4 parts are shaded out of 6 equal parts (i.e., rectangle). Hence,
this figure represents a fracnon% %

(c) Here, 3 parts are shaded out of 9 equal parts (i.e., squares). Hence, this
figure represents a fraction %:%

(d) Here, 2 parts are shaded out of 8 equal parts (i.e., rectangle). Hence,
this figure represents a fraction %:%

(e) Here, 3 parts are shaded out of 4 equal parts (i.e., squares). Hence, this

figure represents a fraction %.

(i) Here, 6 parts are shaded out of 18 equal parts (i.e., triangles). Hence, this figure represents a

fraction 5.1
I8 3

(ii) Here, 4 parts are shaded out of 8 equal parts (i.e., rectangles). Hence, this figure represents a

fraction 4.1
8 2

(iii) Here, 12 parts are shaded out of 16 equal parts (i.e., squares). Hence, this figure represents

a fraction 12 _3
16 4

(iv) Here, 8 parts are shaded out of 12 equal parts (i.e., rectangles). Hence, this figure represents
a fraction 5.2

12 3
(v) Here, 4 parts are shaded out of 16 equal parts (i.e., triangles). Hence, this figure represents a

fraction B
16 4

Now, these figures can be matched correctly as

() (ii), (b) (iv), () (i), (d) (v), (&) (iii)

Question 3:

Replace &mn8q2 in each of the following by the correct number:
2

)7 OO
(C) D(]@=E
eﬁzﬁ

24 4
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Answer 3:

Hence, &mnSq2 can be replaced by 12.

45 15
(d) o0 []
45 15 3
60 20 3
Hence, &mnSqg2 can be replaced by 20.
(e) 18 _[]
24 4
18 3 6
24 46
Hence, &mnSq2 can be replaced by 3.

Question 4:

Find the equivalent fraction of %having

(a) denominator 20 (b) numerator 9
(c) denominator 30 (d) numerator 27
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Answer 4:

(@) 3L

520
3x20=5x[ |
3x2x2x5="5x |

12=[]
12

Hence, the required fraction i 'ST}'

j

B =
li

D

|:[=-3><1><3
]—1

Hence, the required fraction is%.

(3.1

530
3x30=5x] |

3x2x3x5=5x |
18=[]
Hence, the required fraction is%.

3 27
@3-
3x[]=5%27
3><D=5><3><3>¢3
[1=45
Hence, the required fraction |s%.

Question 5:

Find the equivalent fraction of % with

(a) numerator 9 (b) denominator 4
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Answer 5:
36 9
a) —=—=
(@) 48 []
36x[ |=48x9
3><3><2><2><D=2x2x2><2><3><3x3

[=12

Hence, the required fraction is % ]

by 3¢ _L1

48 4
36x4 = 48x[ |
3x3><2x2x2x2=2x2x2x2x3x[

3-[]

Hence, the required fraction is % :

-

Question 6:

Check whether the given fractions are equivalent:
530 3 12

a) =,— (b) =—,=

@ 954 (b) 10" 50
%

(c)

1311

Answer 6:

5 30

O

30 5x6 5

54 9x6 9

Clearly, both the fractions are equivalent.
3 12

(b

3 3x2 6

10 10x2 20

12 6x2 6

50 25x2 25

Clearly, both the fractions are not equivalent.
T 5

1 FxiE 9

13 13x11 143

5 _ 513 _ 65

11 11x13 143

Clearly, both the fractions are not equivalent.
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Question 7:

Reduce the following fractions to simplest form:
48 150
i [ Tt
(8) = (b=

©% @2

52
T
e) —
(}28
Answer 7:
48 12=x4 4
(@ ==——==
o 12x5 5
(b)ﬁzmmzé
a0 30x_2 2
(Cjﬁzmxﬁzﬁ
o8 14=7 7
(d) E= 3xd _3
52 13=4 13
7 T 1
© % 73
Question 8:

Ramesh had 20 pencils, Sheelu had 50 pencils and Jamaal had 80 pencils. After 4 months,
Ramesh used up 10 pencils, Sheelu used up 25 pencils and Jamaal used up 40 pencils. What
fraction did each use up? Check if each has used up an equal fraction of her/his pencils?

Answer 8:
Fraction used by Ramesh = ALl
20 2
Fraction used by Sheelu :%=%
40 bt

Fraction used by Jamaal =—=
80 2

Yes, all of them used equal fraction of pencils i.e., % ;
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Question 9:

Match the equivalent fractions and write two more for each.

250 I 180 5
() = e (a) 5 (iv) s (d) g
180 220
(H}ﬁ(b) ()ﬁ()
660 1
(m) (c) -
Answer 9:

e R
400 8x50 8
Twomomfmmbnsmegiig
407 48
iy 120 920, 2
200 10x20 10
Twomomfmmbnsmelﬁgl
20730
wuhm_jxﬁﬂ:g
990 3x330 3
Twomomfmmbnsmegiﬂm.
307300
iy 230 =180 1
360 2x180 2
Twomomfmmmnsmegiig
40" 60
220 2x%110 2
(v) == =
S50 SxI10 5
Twomomfmmmnsme3940.
507100

Now, these can be matched as

() = (d), (ii) = (e), (iii) » (a), (iv) - (c), (v) - (b)
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MATHS -6 (CH-07-7.4 FRACTIONS)

Question 1:

Write shaded portion as fraction. Arrange them in ascending and descending order using correct
sign ‘<, =, "= between the fractions:

(a)

(b)

(c) Show % % %and = on the number line. Put appropriate signs between the fractions given.
572 3
e o
16 85
sHe e
Answer 1
(a)
A
D/
Here, 15! circle represents 3 shaded parts out of 8 equal parts. Therefore, it represents a fraction
3

Here, 2nd circle represents 6 shaded parts out of 8 equal parts. Therefore, it represents a
fraction &.
8

Here, 3rd circle represents 4 shaded parts out of 8 equal parts. Therefore, it represents a fraction
4

8
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Here, 411 circle represents 1 shaded part out of 8 equal parts. Therefore, it represents a fraction
1

T

Now, these fractions may be arranged as

Here, 15! square represents 8 shaded parts out of 9 equal parts. Therefore, it represents a

fraction E.
9

Here, 2nd square represents 4 shaded parts out of 9 equal parts. Therefore, it represents a
fraction 4,
9

Here, 3rd square represents 3 shaded parts out of 9 equal parts. Therefore, it represents a

fraction i.
9

Here, 4th square represents 6 shaded parts out of 9 equal parts. Therefore, it represents a
fraction &.
9

Now, these fractions can be arranged as
3 4 6 8

—_— =
9 9 9 9
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(c) To represent the given fractions %.%,%,andg on number line, each unit length should be

divided in 6 equal parts. Now, these fractions can be represented as

2

1

Fednl iy, | fan i
S WA L | %)
e S 6 8
& (i3 [ [}

5 2

6 0

ibﬂ

6O

| 6

_.::_

6 6

g8 5

_:'_:\._

6 0

Question 2:

Compare the fractions and put an appropriate sign.
3F5 11

i i

Answer 2:

3 5
J) = Fs
(a) -
Here, the denominators are same. Therefore, the fraction having the greater numerator will be
greater.
o L
7 Tx4 28

Here, the denominators are same. Therefore, the fraction having the greater numerator will be
greater.
% 3
dy2e2
(d) >3
Here, the numerators are same. Therefore, the fraction having lesser denominator will be

greater.
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Question 3:

Make five more such pairs and put appropriate sign.

Answer 3:

o 6 8
W55

Here, the denominators are same. Therefore, the fraction having the greater numerator will be

greater.

R

i) =>=

() ==e

Here, the denominators are same. Therefore, the fraction having the greater numerator will be
greater.

.
i) —>—
(i) 13717
Here, numerators are same. Therefore, the fraction having the lesser denominator will be

greater.

sl 3

V) —>—

(iv) 22 22

Here, the denominators are same. Therefore, the fraction having the greater numerator will be

greater.

9 9
V) — ¢
V) 47 42
Here, the numerators are same. Therefore, the fraction having the lesser denominator will be
greater.

Question 4:

Look at the figures and write ‘<" or *>', '=" between the given pairs of fractions.

-]

[

3
2| — i
(]

| | | |
0 i 2 3
3 3 3 3
E—1 | | |
T 2 3 4
4 4 4 4 4
(I N 7
¢ 1 2z 3 4 3
5 5 5 5 5 5
E=F—F—T 77—
L3 = 3 & & &
4] & L] [i] 3] [i] il
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11

@ 513

32

(b) ZLI%

22

@30

613

@513

5m5

(55
Answer 4:

(a) Here, the numerators are same. Therefore, the fraction having the
lesser denominator will be greater.

11
Hence, —|<|—
' 63

3 3x3 9
(33838
4 4x3 12
2 2x2 4
6 ox2 12

As the denominators of %% are same, the fraction having the greater numerator will be
greater.

3—2
Hence, —|=|=
'4-5

(c) Here, the numerators are same. Therefore, the fraction having the lesser denominator will be

greater.
Hence, 2[5]2
i
6 .3
d)As = =1.2=1,
(d) As ==1.3
613
Aeh
(e) Here, the numerators are same. Therefore, the fraction having the lesser denominator will be
greater.

55
Hence, =|<|=
6[:5

ADDRESS : INFRONT OF ANIL BHATIA DUPLEX PARISAR, NEAR 60 FEET ROAD, SHATABDIPURAM, DD NAGAR, GWALIOR 20



e DPM CLASSES & COMPUTERS
S Special for Math’s & Science
=== By - Er. Dharmendra Sir (9584873492,7974073108)

Question 5:

11 23
(9302 @ 302
(@302 0 102
(@ ;03 ) 2002

4
w 37 o 64

515
® 7L

Answer 5:

(a) Here, the numerators are same. Therefore, the fraction having the

lesser denominator will be greater.

Hence, % > 1

=

() 2=digd=d
4 2 6 2
3

Hence, ===
6

Bt

3 3x3 9
(€) o=—==
5 5x3 15
2 2x5 10
3 3x5 15

As the denominators of %and% are same, the fraction having the greater numerator will be

greater.

3 2
Hence, = <=
5

03

As the denominators of %andi are same, the fraction having the greater numerator will be
greater.

Hence, = >

|
o0 | b
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(e) Here, the denominators are same. Therefore, the fraction having the greater numerator will

be greater.
Hence, E{E
55

(f) Here, the denominators are same. Therefore, the fraction having the greater numerator will be

greater.

Hence, 1 > =
9 9

xe
(9) 2 A
Hence, f e

4

o0 | b

6 3x2 3
7 it O
10 5x2 5

As the denominators of %and% are same, the fraction having the greater numerator will be

greater.
6 4

Hence, — <—

10 5

~ 3 3x2 6

(i) == e

4 4x2 8
As the denominators of gand% are same, the fraction having the greater numerator will be

greater.

Hence, S c:z
4 B

~ 6 3x2 3
U 10 5x2 5
As the denominators of %and% are same, the fraction having the greater numerator will be

greater.
Hence,(—’«:i
10 5
5 5x3 15
(k) 2=22-2
7 Tx3 21

Hence, 2 1=
7 21
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Question 6:

The following fractions represent just three different numbers. Separate them into three groups
of equivalent fractions, by changing each one to its simplest form.

2 3

8 16
(c) S0 (d) 00

10 15
(e) 50 (f) 75

@ o 0 5
OREOR=

K= @ 2

Answer 6:

2 Ix2 1
()2 -2 _1
12 6x2 6
3 1=x3 1
15 5x3 5§

9
Cj] g _ A 4

50 25x2 25

16 44 4
il T

100 25x4 25

10 1=x10 1
SRS,

60 6x10 6

15 1x15 1
() ==

75 5x15 3
) 12_1xi2
60 5x12

1
5

(h) 16 Ix16 1

9% 6x16 6
) 12_4x3 _4
75 25x3 25
12 1x12 1
(J)T—Z_ﬁxlz_g
3 123 1
(k) ==—=-
I8 6x3 6
4
i
(N =

There are 3 groups of equivalent fractions

%_, (a), (e), (h), (), (k)
é_> (b), (f), (9)
% (), (d), (i), ()
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Question 7:

Find answers to the following. Write and indicate how you solved them.

5 4 9 5
a) Is= lto— ?(b) Is= lto=7?
(a) sqequa ns ( :l s]ﬁequa ng

4 16 1 4
c) Is—equalto— ? (d) Is—equal to— ?
(©) 5 equal to - (d) 5o

Answer 7/:

5 4
@33

Converting these into like fractions,
5§ 25

= H—=—

45
6

5

9 9 35

4 4 9 3

f— _x_

5 5 9 45
T

AS.E?&_—S

45 457
5 4
Therefore, 915 not equal ln-i-.

9 35
(b) 69
Converting these into like fractions,
& 32 St
16 16 9 144
2.0.16 80
9 9 16 144
As.i;tﬂ—(',
144~ 144

e 9. 5
| her&:fnre,l— is not equal lua_

4 16
c) = =
©3 %
16 _4x4_4
20 5x4 5

Therefore, 4.4
5 2

1 4
@l A
()IS 30
4 2x2 E

30 15%2 15

=

Therefore, —isnot equal to i
15 30
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Question 8:

lla read 25 pages of a book containing 100 pages. Lalita read %c:-f the same book. Who read

less?

Answer 8:

Numbers of pages read by Lalita :§x100 =40

Number of pages read by lla = 25
Hence, lla has read less number of pages.

Question 9:

Rafiq exercised for % of an hour, while Rohit exercised for %of an hour.

Who exercised for a longer time?

Answer 9:

Rafiq exercised for % hr and Rohit exercised for % hr.

Converting these into like fractions,
3 3x2 6

6 6x2 12
o
4 4x3 12

Hence, Rohit exercised for a longer time.

Question 10:

In a class A of 25 students, 20 passed in first class; in another class B of 30 students, 24 passed
in first class. In which class was a greater fraction of students getting first class?

Answer 10:

Fraction of students of class A who passed in Ist class :% 4

Fraction of students of class B who passed in Ist class :% =§

From both classes, an equal fraction of students passed in first class.
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Question 1:

Write these fractions appropriately as additions or subtractions:

(a)

(b)

Answer 1:

(a) Here, it can be observed that 15t 2nd and 31 rectangles are representing 1, 2, and 3 shaded
parts out of 5 equal parts respectively. Clearly, the fraction represented by 3™ rectangle is the

sum of the fractions represented by 15t and 2™ rectangles.

Hence, l+E=i
55

(b) Here, it can be observed that 1%, 21 and 3™ circles are representing 5, 3, and 2 shaded parts
out of 5 equal parts respectively. Clearly, the fraction represented by 3™ circle is the difference

between the fractions represented by 15! and 2™ circles.
Hence,é—3=E
55

(c) Here, it can be observed that 15t 2" and 3" rectangles are representing 2, 3, and 5 shaded
parts out of 6 equal parts respectively. Clearly, the fraction represented by 3 rectangle is the

sum of the fractions represented by 15t and 2™ rectangles.
2.5 5

Hence, —+=
6 6 6
Question 2:
Solve:
1 1 8§ 3
(a) E+E (b) G+E
7 5 1 21
o | L
© 7 7 ) 22+22
12 7 5 3
e L gy e
©) 5 IS(}8+8

@ 1-3(1=3] @) 1+

3 4 4
< 13
) 3==2
() 3-2
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Answer 2:

|

2T TnT
12 7 12-7 5

e L B

|
15 15 15 15 3

Question 3:

Shubham painted %of the wall space in his room. His sister Madhavi helped and painted %of

the wall space. How much did they paint together?

Answer 3:
Space painted by Shubham =§ of the room
Space painted by Madhavi =% of the room
Hence, together they painted :(§+%] of the room

=1 = the complete wall

Question 4:

Fill in the missing fractions.
(a) l_]jzi b) ]]_izi
o0-2-2 @O.2-2

2727

ADDRESS : INFRONT OF ANIL BHATIA DUPLEX PARISAR, NEAR 60 FEET ROAD, SHATABDIPURAM, DD NAGAR, GWALIOR 27



.z DPM CLASSES & COMPUTERS
eSO Special for Math’s & Science
=" By - Er. Dharmendra Sir (9584873492,7974073108)

Answer 4.

7 3
@ 5-U=55

7 3 7=3 & 2
B o

M_3_3
(b)D"ﬁ_m
[-5,3_5+3_38

R |

+3
6
5.1
27 27
D_E_i_lz‘S 7
R R R

o]
6
3

= AR - T

(d) L]+

Question 5:

Javed was given %of a basket of oranges. What fraction of oranges was left in the basket?

Answer 5:
Fractions given to Javed :%
Fraction left in the basket = i-é: L. 2.2
7 7771777
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Question 1:
Solve
(© 5+2 (@) 245
(&) 2+ () 3+2
03103}
03540 4obed
(0 13432 () 4343
Answer 1:

(2x7)+(1x3)
TR
C14+3 17
21 21

3 7

By 2l
( :] 10 15
_(3x3]+{:?x2]
- 30
_9+14 23

o 30

(Taking L.C.M as 21)

(Taking 30 as L.C.M)

4 2
o) iyt N
(B

4x7)+(2x9
)12 (Taking 63 as L.C.M)
63
_28+18 46

63 63
5 1
d) =+-
() i A

Sx3)+ 7 .
JiSk)e L) (Taking 21 as L.C.M)

_15+7 22
T
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21

(e) g*g

_(2x6)+(1x5) 17

- 30 T30
4 2

W33

_{4><3]+{2><5}_ 22

- 15 Rk

(Taking 30 as L.C.M)

(Taking 15 as L.C.M)

= v (Taking 12 as LCM)

(Taking 6 as L.C.M)

= (Taking 12 as L.C.M)

B (Taking 6 as LCM)

6
_3-*-2+|_§_1
i) 6
1 2
(k)ti*aE
_{3x|]+-] [_‘3)(3)#2
— 4 © B
4 11 15
=4 —=—"=
3 3 3
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3, ol
) 4=+3—
4523
(3x4)+2 (3x4)+1
= -
3 4
14 13
=—d4—
304
={14x4]+{l3x;] _56+39 95 (Taking 12 as L.C.M)
12 12 12 :
(my 167 _16-7_9
55 5 5
4 1
N =
ars
4x2)-(1x3) 8-3 5
JAT) DD, 8535 (Taking 6 as L.C.M)
6 6 6
Question 2:

Sarita bought %metre of ribbon and Lalita %metre of ribbon. What is the total length of the

ribbon they bought?

Answer 2:
Length of ribbon bought by Sarita :g m
Length of ribbon bought by Lalita :g m

Total length of ribbon bought by them :%-%

(2x4)+(3x5) 8+15 23 o
20 20 20
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Question 3:

Naina was given I%piece of cake and Najma was given 1%piece of cake. Find the total amount

of cake was given to both of them.

Answer 3:
Fraction Naina got :1];=%
Fraction Najma got n%:%

: ; 3 4 3x3+4x2
Total amount of cake given to them =—+—=———

2 3 6
L
T 6 6 6

Question 4:

Fill in the boxes: (a) j-é:i (b) []-

Answer 4:
50
(a}]"g—z
1 5 1x2+5 245 7
Lo =si=s
11
(b:’::l"gzz
T_l_l_{lxil]_+{ll><2_]_5+2_?
sl S0 10 T 10
| 1
(C)E—D—E
_1_|_(|><3_)—1_3_—|_2_|
]_2 6 6 6 6 3
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Question 5:

Complete the addition-subtraction box.
(a)
——Fr—

2

3

A
3

L.\IIl\J

(b)

Answer 5:

—
o
e

| 4
il
1

+
L]

+

—
Wi wWim wlw
i

2
| L3

| Lk

e
[ ]

s |
.

+
[PV SR PT R PUY R P [
Il

L oo = e Lo b W=
tad | e

ence, the given box can be completed as
_®_..

2

= 2

wl-h

T Il‘\-l

I

-_,l,_ u.,...l._

R.nll\-'l
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W
-

1 (1x3)+(1x2) 3+2 5

1
L A
l+l=(1x4]+(lx3}=4+3=i
3 4 12 12 12
1 1 (Ix3)=(1x2) 3-2 |
58 6 6 6
I 1 (Ix4)=(1x3) 4-3 1
3 4 12 1212
L1 _(Ix2)+1_2+1_3 1
6 12 12 12 12 4
Hence, the given box can be completed as

_@_..

0 I W) O 2

2 3 &
|
3 4 12
by =iy | Gk
[i] 12 4
Question 6:

A piece of wire % metre long broke into two pieces. One piece was %melre long. How long is the

other piece?

Answer 6:

Length of one piece :&m
The length of the other piece of wire will be the difference of the lengths of the original wire and
this piece of wire.

Hence, length of the other piece of wire = %-%

7o{1x2) 7=2
= (lx ]:? .HZS m
8 8 8
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Question 7:

Nandini's house is %km from her school. She walked some distance and then took a bus for %

km to reach the school. How far did she walk?

Answer /:
Distance walked by Nandini = Total distance - Distance for which she took the bus
9 1
10 2
9-1x5 9-5 4 2
=———=——=—==km
10 i 10 5
Question 8:

Asha and Samuel have bookshelves of the same size partly filled with books.

Asha’s shelf is %th full and Samuel’s shelf is %th full. Whose bookshelf is more full? By what

fraction?

Answer 8:

Fraction of Asha's shelf = %

Fraction of Samuel's shelf :%

Converting these into like fractions,
5 o8 5 95

—_— e Y e

Clearly, Asha's bookshelf is more full.
: 5 2
Difference = 5.2.25.12 .13
6 5 30 30 30
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Question 9:

Jaidev takes 2% minutes to walk across the school ground. Rahul takes %minutes to do the

same. Who takes less time and by what fraction?

Answer 9:
Time taken by Jaidev :2% minutes :g min

Time taken by Rahul :% min

Converting these into like fractions,

11_11.4 34

5 53 4 20

1,15 %

4 4 5 20

As 44 = 35,

117

574

Hence, Rahul takes lesser time.
11 7

Difference = — -~
5 4
44 35 9

—— — — n

— = m
20 20 20
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